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Grade 4 Math Worksheet: Addition (Difficulty Level: Intermediate)

Name:
Date:

Part 1: Multi-Digit Addition
Add the following numbers:

4,534 + 3,213 =
6,421 + 2,365 =
7,823 + 1,103 =
5,672 + 4,207 =
8,311 + 2,637 =

o=

Part 2: Multi-Digit Addition
Add the following numbers, showing the carry-over steps:

7,453 + 5,689 =
9,387 + 2,748 =
6,981 + 7,563 =
5,218 + 8,467 =
4,576 + 9,864 =

o=

Part 3: Word Problems Set
Solve the following word problems:

1. Afarm has 3,285 apples, and the farmer picks 1,874 more apples. How many
apples does the farmer have now?

2. On Monday, a store sold 4,568 toys. On Tuesday, it sold 3,742 toys. How many
toys did the store sell in total?
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3. A baker bakes 4,638 cookies in the morning and 2,975 cookies in the afternoon.
How many cookies does the baker bake in total?

Bonus Challenge

1. A factory produced 12,547 toys this month and 6,389 toys last month. How many
toys did the factory produce in total over the two months?

-BE THE CHAMPION!--



